

August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: MLK 135 Locust Hill Ave Yonkers, NY 10701 Quotation ID: QUO-40792-Z4P2Y9 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Total:

ltem No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	13	\$197.95	\$2,573.35
		Net Amo	ount:	\$2,573.35
		Shipping & Hand	lling:	\$0.00
			Tax:	\$0.00

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

\$2,573.35



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: PS 32 1 Montclair Pl Yonkers, NY 10710 Quotation ID: QUO-40793-Q5Y2M4 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Total:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	13	\$197.95	\$2,573.35
		Net Amou	nt:	\$2,573.35
		Shipping & Handlir	ng:	\$0.00
		Та	ax:	\$0.00

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

\$2,573.35



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: PS 22 1408 Nepperhan Ave Yonkers, NY 10703 Quotation ID: QUO-40794-B9P2C2 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Total:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	13	\$197.95	\$2,573.35
		Net A	Amount:	\$2,573.35
		Shipping & H	andling:	\$0.00
			Tax:	\$0.00

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

\$2,573.35



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: De Hostos 75 Morris St Yonkers, NY 10705 Quotation ID: QUO-40795-V6W0F0 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	13	\$197.95	\$2,573.35
		Net Amou	nt:	\$2,573.35
		Shipping & Handli	ng:	\$0.00
		Т	ax:	\$0.00
		Tot	tal:	\$2,573.35

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: St Anthony 1395 Nepperhan Ave Yonkers, NY 10703 Quotation ID: QUO-40796-R0Z4C7 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	10	\$197.95	\$1,979.50
		Ne	t Amount:	\$1,979.50
		Shipping &	Handling:	\$0.00
			Tax:	\$0.00
			Total:	\$1,979.50

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: St Peters 204 Hawthorne Ave Yonkers, NY 10705 Quotation ID: QUO-40801-V0J1T3 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	10	\$197.95	\$1,979.50
		-	scount: nount: ndling:	\$1,979.50
			Tax:	\$0.00
			Total:	\$1,979.50

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

LEGO Education 501 Boylston Street Suite 4103 Boston, MA 02116 (P) 800-362-4308 (F) 888-534-6784 (E) Orders@legoeducation.us



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: Stein Yeshiva of Lincoln Park 287 Central Park Ave Yonkers, NY 10704 Quotation ID: QUO-40802-Z4H9N7 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	10	\$197.95	\$1,979.50
		Net A	mount:	\$1,979.50
		Shipping & Ha	andling:	\$0.00
			Tax:	\$0.00
			Total:	\$1,979.50

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: Orchard 1156 N Broadway Yonkers, NY 10701 Quotation ID: QUO-40803-B5T5G8 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Total:

ltem No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	10	\$197.95	\$1,979.50
		Net Amo	ount:	\$1,979.50
		Shipping & Hand	lling:	\$0.00
			Tax:	\$0.00

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

\$1,979.50



August 5, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: Andalusia 380 Walnut St Yonkers, NY 10701 Quotation ID: QUO-40804-Q0P5V8 / 2 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

Total:

ltem No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	10	\$197.95	\$1,979.50
		Net A	mount:	\$1,979.50
		Shipping & Ha	indling:	\$0.00
			Tax:	\$0.00

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

\$1,979.50



August 7, 2019

Quoted To:

Sicarah Fields Sfields3@yonkerspublicschools.org

Sold To: Customer Number: 221407 Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076

Ship-To: Yonkers Public Schools 1 Larkin Ctr, 3rd Fl Yonkers, NY 10701-7076 Quotation ID: QUO-40887-L7D0Z3 / 0 Sales Person: Benjamin Pasquariello E-mail: benjamin.pasquariello@LEGO.com Phone:

> Tax: Total:

Item No.	Description	QTY	Price	Total
45300	LEGO [®] Education WeDo 2.0 Core Set	2	\$197.95	\$395.90
			et Amount:	\$395.90 \$8.00
		Shipping 8	r nanunng:	\$8.00

To guarantee pricing, please attach a copy of this proposal / quote to your purchase order or include the Quote ID listed above. Prices are valid through December 31, 2019. Prices based upon total purchase.

If you are tax exempt, please send a valid copy of your certificate to <u>Orders@legoeducation.us</u>. If applicable, tax above is an estimate. Actual tax will be calculated at time of order.

LEGO Education Tech Support (\$150.00/Hr.) will be free of charge for all LEGO Education customers

\$0.00

\$403.90